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Total Energy before = Total Energy After
Comes from = Goes to
Assets = Expenditures

Fs + mgh + ,mv2 + 1,kx? = Fs + mgh + 1/,mv? + 1/,kx?
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A250kg cart going4.5m/s rollsdowna 1.75m
tall hill. Whatis the velocity of the cart at the
bottom?

— v=45m/s
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Exﬂm An 890 kg cart rolling 6.2 m/s along a level
surface hits a 3.6 m long puddle that exerts 3200

o N of averageretarding force. What is the cart’s
vV=62m/s velocity after this?

3.0m

(Puddle - Exerts 3200 N of retarding force)
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Exﬂm A 350kg cartis going 4.6 m/s. For what distance
musta person exert a forward force of 53 N so that
when the cart gets to the top of a 1.8 m tall hill it is
going 2.4 m/s?

1.8m

u=4.6ms
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Exﬂm A 0.124 kg pine cone falls 45.0 m from a tree. It
is going 22.0 m/s when it strikes the ground.
‘What is the average force of air friction that acts
on the pine cone as it falls?




